
SCREEN BED-02

C0330072.  C0330074.  C0330075.  C0330076.

Install Instruction



4M8X30 44=M8X30 44= L= 32X80MM=2ΦL= 32X80MM=2Φ4 4

M8X30=4

SCREEN BED-02

2

M8X30=40

4M8X30 44=M8X30 44= L= 32X80MM=2ΦL= 32X80MM=2Φ4 4


